
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/NOV21/1 

AUSSIE SPARES DIAGRAM & PARTS LIST 

All prices exclude GST 

AUSSIE GMP PUMPS:  

Part Number Qty Description 
List 

price 
5113 4 OEB Screw M 8x30  $3 

5188 2 Grub Screw  $3 

5255 1 Flex. Coupling D.40  $304 

5442 1 S/Steel OEB Screw M6x15  $6 

5480 2 Flex. Gasket B 2618  $9 

6029 1 Flex. Gasket B 2618  $9 

6102 1 Check Valve B3KQ-A  $37 

6164 4 Washer D.8x14x2  $2 

6237 4 Hex. Head Screw M10x20  $6 

6334 1 Mech. Seal 16-32-13  $33 

6344 1 Counterface 18-38-8  $33 

7654 1 Hydraulic Motor  $1,830 

8855 1 OR 3425 107.62x2.62  $8 

B3KQ-A/B WITH HYDRAULIC MOTOR 

Cat AA3G 

Part Number Qty Description 
List 

price 
8901 1 Diaphragm Sch-2802  $190 

8914 1 Bronze Pump Casing  $2,117 

8915 1 Bronze B#KQ-A/SCheck Valve  $439 

9065 1 Counterweight  $50 

9066 1 Counterweight  $69 

9848 6 OEB S/Steel Screw M10x20  $7 

F027  1 Support for Hydr.Mot.  $618 

F135  1 Conical Tap ¼” Gas  $24 

F136  1 Conical Tape ½” Gas  $38 

F739  1 Steel Nut M6x1  $8 

H175  1 Shaft with Bearing  $251 

H176  1 Bronze Impeller B3KQA  $433 

H178  1 Brass Sleeve  $37 


